
ASSEMBLY INSTRUCTION

835-277

READ AND SAVE THESE INSTRUCTIONS FOR FUTURE USE

INc5c005_GL



PARTLIST
PARTLIST

A 30 C 18B 30

D 9 F 41E 2

G 4 I 2H 6

J 4 L 2K 20

M 2 O 4N 2

P 2 R 2Q 8

S 1 U 1T 1

V 2 Y 2X 2W 2

M4*30

M4*50 M4*16

M4*25

M2*10

M3.5*30

M3.5*40

M3*12



PARTLIST
PARTLIST

1 1 2 1 3 1

4 1 5 1 6 1 7 1

8 1 9 1

10 1 11 2 12 2

13 4 14 2 15 2

16 2 17 2 18 2

19 2 20 1 21 2

22 1 23 1



PARTLIST



02

01



04

03



06

05



08

07

x4



10

09



12

11



14

13



16

15
20

4



18

17



20

19

21

x2

x2

x2



23

22

x2

x2



25

24




